7. = o = £ E Ecd
No. 1
I B R g =X RETHE | B k=
<GBEITWMZT>
fHEERR  t=15ecmLLTF 6.35 + 2.65+ 9.70 + 134.70 + 3.00 + 3.00 + 100.00 + 2.60 290
SR R YR 9.30 + 7.50+ 3.75 + 4.20 = 286.8 m
SHIEE15emLL T 993.4 + 207.4+  60.5 = 1261.3 1260
S RS AE m?2
TAIT MR 993.4 + 60.5 )x 0.05 + 207.40 %  0.03 = 58.9 59
OB 22. 0kmLLF m3
TAIT MR 993.4 + 60.5 )x 0.05 + 207.4%  0.03 = 58.9 59
YY) m3
618.7 = 618.7 619
REXRIE GHER) #HEMEA M-30 t=30mm m2
582.2 + 60.47 = 642.7 643
RRERIE HWEMAE M-30 t=30mm m2
BAEZEAMETAY(3) 618.7 = 618.7 619
=2 (1. 4mLL E£3. OmLL ) [t=50mm 7° 34 LA3-b m2
BAEZEAMETAY(3) 582.2 + 60.47 = 642.7 643
=& (3. OmiR) t=50mm 7" 3{L3-} m2
I+t F 0.01 *( 30.70 + 94.30 + 101.80 + 104.30 + 96.30 + 4.20 + 4.60 )= 4.36 4.4
RERL 122. bmk i m3
<RXEHHET>
B Ef#fw=15cm 530+ 36.00+ 94.30 + 101.80 + 104.30 +  96.3 = 438.0 440
Bt X ER BEK i | m
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# = &t g =
No.1
&%= R B A% (t=5cm) S %= B A% (t=3cm)
B oA |RMEH|(FE | FTHF B | FE | FTH]F BR|HFE|FH]F BR|HE|FBH] F T
W M o] W M o]

No.0 5.75 0.60

0+ 530 5.30 5.75 5.75 30.5 0.60 0.60 3.2

0+ 530 0.00 2.05 0.60

0+ 20.00 14.70 2.00 2.03 29.8 0.60 0.60 8.8

0+ 3150 11.50 2.05 2.03 23.3 0.60 0.60 6.9

0+ 36.00 4.50 2.25 2.15 9.7 0.60 0.60 2.7

0+ 4570 9.70 2.05 2.15 20.9 0.60 0.60 5.8

0+ 60.00 14.30 2.00 2.03 29.0 0.60 0.60 8.6

0+ 80.00 20.00 2.05 2.03 40.6 0.60 0.60 12.0
No.1 20.00 1.95 2.00 40.0 0.60 0.60 12.0

1+ 20.00 20.00 1.90 1.93 38.6 0.60 0.60 12.0

1+ 40.00 20.00 2.40 2.15 43.0 0.60 0.60 12.0

1+ 4540 0.00 2.40 0.60

1+ 60.00 14.60 2.00 2.20 32.1 0.60 0.60 8.8

1+ 80.00 20.00 2.00 2.00 40.0 0.60 0.60 12.0
No.2 20.00 2.00 2.00 40.0 0.60 0.60 12.0

2 + 20 20.00 2.00 2.00 40.0 0.60 0.60 12.0

a8 & 214.60 4575 128.8




%& = g g =
_ No.2
£ 2% IR B F%(t=5cm) £ = IR B R (t=3cm)
b= XMEHERH | v @ | F | F & m|FEY | F B|lHE|TETY | F B|lHE| TS| F
W @ B @ W @ B @
2 + 20.00 0 2.00 0.60
2 + 40.00 20.00 2.00 2.00 40.0 0.60 0.60 12.0
2+ 4540 5.40 2.00 2.00 10.8 0.60 0.60 3.2
2+ 4540 0.00 4.60 0.60
2+ 47.20 1.80 4.60 4.60 8.3 0.60 0.60 1.1
2+ 5470 7.50 4.65 4.63 34.7 0.60 0.60 4.5
2 + 60.00 5.30 4.55 4.60 24.4 0.60 0.60 3.2
2 + 80.00 20.00 4.60 4.58 91.6 0.60 0.60 12.0
No.3 20.00 4.55 4.58 91.6 0.60 0.60 12.0
3+ 20.00 20.00 4.60 4.58 91.6 0.60 0.60 12.0
3 + 40.00 20.00 4.60 4.60 92.0 0.60 0.60 12.0
3+ 51.00 11.00 4.65 4.63 50.9 0.60 0.60 6.6
N F 131.00 535.9 78.6
&5 & 345.60 993.4 207.4




# = &t g =
No.3
TR IE (B8 ah) RIE(G.OmELT) REEIE REGOmE)
BoR |RMEH|(FE | FTH|F R |(FE [ FTH][F BR|FE|FTH]|F BR|FE|FEFH]F R
W M o] W M o]
No.0 6.35 6.35
0+ 530 5.30 6.35 6.35 33.7 6.35 6.35 33.7
0+ 530 0.00 2.65 2.65
0+ 20.00 14.70 2.60 2.63 38.7 2.60 2.63 38.7
0+ 3150 11.50 2.65 2.63 30.2 2.65 2.63 30.2
0+ 36.00 4.50 2.85 2.75 12.4 2.85 2.75 12.4
0+ 4570 9.70 2.65 2.75 26.7 2.65 2.75 26.7
0+ 60.00 14.30 2.60 2.63 37.6 2.60 2.63 37.6
0+ 80.00 20.00 2.65 2.63 52.6 2.65 2.63 52.6
No.1 20.00 2.55 2.60 52.0 2.55 2.60 52.0
1+ 20.00 20.00 2.50 2.53 50.6 2.50 2.53 50.6
1+ 40.00 20.00 3.00 2.75 55.0 3.00 2.75 55.0
1+ 4540 3.00 3.00
1+ 60.00 14.60 2.60 2.80 40.9 2.60 2.80 40.9
1+ 80.00 20.00 2.60 2.60 52.0 2.60 2.60 52.0
No.2 20.00 2.60 2.60 52.0 2.60 2.60 52.0
2 + 20 20.00 2.60 2.60 52.0 2.60 2.60 52.0
a8 & 214.60 552.7 552.7 33.7 33.7




# = &t ] =

_ _ _ No.4

TREERIE (HERR) FIEQ.O0mELTF) TREEIE = [E(3.0mitR)
U X R m | ¥ OB | @ | FEY S| W om | T OB | @ | FEY R

Wi @ W m Wi @ W m

2+ 20.00 0 2.60 2.60
2 + 40.00 20.00 2.60 2.60 52.0 2.60 2.60 52.0
2+ 4540 5.40 2.60 2.60 14.0 2.60 2.60 14.0
2+ 4540 0.00 5.20 5.20
2+ 4720 1.80 5.20 5.20 94 5.20 5.20 9.4
2+ 54.70 7.50 5.25 5.23 39.2 5.25 5.23 39.2
2 + 60.00 5.30 5.15 5.20 27.6 5.15 5.20 27.6
2+ 80.00 20.00 5.20 5.18 103.6 5.20 5.18 103.6
3 20.00 5.15 5.18 103.6 5.15 5.18 103.6
3+ 20.00 20.00 5.20 5.18 103.6 5.20 5.18 103.6
3 + 40.00 20.00 5.20 5.20 104.0 5.20 5.20 104.0
3+ 51.00 11.00 5.25 5.23 57.5 5.25 5.23 57.5
N E 131.00 66.0 66.0 548.5 548.5
a & 345.60 618.7 618.7 582.2 582.2




1RHY
T 7&E -1 =i =
KiE AR 102 * 027 028 | m3 0.3
ERFFVIARET
ARE = 1.00 & 1
LY vavh—h SRy A T (L EpEE)
ARI2E H=200 1.00 & 1
Ly vavh) - ) AR E T (L EBEE)
AR5 H=200 1.00 & 1
Ly vavh)-hER ) A( L EREE)
A RS H=20041 ) 1.00 i 1
ERFRVIARET
AES #E 1.00 & 1
HR
iz 102 * 025 0.26 | m3 0.3
ih T
SRR 1RHY
TEEEIE (1 B+ 5E) 800 m2 800
FIAUL—X) 800 * 0.2 16.0 [ m3 20
T R E g 16.0 m3 20
Kty 16.0 m3 20




